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int a ,dp ;
int dfs(int pos,int pre,bool eq,bool zero
I'pos 5
leq&&~dp | pos | pre dplpos! prel;
int ans=0,v=eq?alpos|:9;
_rep(i,0,v

lzero&&abs (i-pre)<

ans+=dfs(pos-1,1i,eq&&i==alpos|,zero&&i==

leq&&!zero)dpipos! [prel=ans;
ans;

int solve(int n

.
’
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int len=0;
mem(dp,-1);
n
al++len|=n%10;
n/=10;
dfs(len, 0, true, true);
int main
int a=read int(),b=read int();

printf("%d",solve(b)-solvela- ;

’
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const int MAXL=15;
LL a[MAXL],dp[MAXL]| MAXL;

int goal;
LL dfs(int pos,int pre,bool eq,bool zero
Ipos pre;
leq&&~dp | pos| [ pre dp/pos!|prel;
int v=eq?alpos|:9;LL ans=0;
_rep(i,o,v
zero&fi==
ans+=dfs(pos-1,pre,eq&&i==alpos|,true);

ans+=dfs(pos-1,pre+(i==goal),eq&&i==apos], false);

leq&&!zero)dp/pos! [prel=ans;
ans;

LL solve(LL n
int len=0;
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mem(dp,-1);
n
al++len|=n%10;
n/=10;

dfs(len,0,true, true);
int main
LL a=read LL(),b=read LL();

_rep(i,o0,
goal=i;

printf("slld ",solve(b)-solvela-

aoo

00 p4l27

od

00000 %a,b$00 0 $labls 00 D0C000DOOOOOODOOOO

od
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00000000000000000 $\text{Mod}$00 0 $\text{dp}$ 00D OO OO0DOODODOO0O

0000 $\text{Mod}$ 0O OO

O000000000 $18\ast(18\ast9)"2$ 0000 00O OO $18\ast(18\ast 9)"3\approx 8\times

10770

000000000000000000000000 $\text{dp}$ 00000000

const int MAXL=20,MAXV= ;

LL a[MAXL],dp!MAXL]| MAXV][MAXV];

int Mod;

LL dfs(int pos,int s,int mod,bool eq
s>Mod| | s+pos*9<Mod ;

Ipos mod==0;
leq&&~dppos! s mod dp|[pos
int v=eq?alpos|:9;LL ans=0;
rep(i,0,v

S

mod | ;

ans+=dfs pos-1,s+i, (mod*10+i)%Mod, eq&&i==alpos
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leq)dp/pos||s]| |/ mod]|=ans;
ans;

LL solve(LL n

int len=0;

n
al++len|=n%10;
n/=10;

LL ans=0;

_rep(i,1,len*
mem(dp,-1);
Mod=1i;
ans+=dfs(len,0,0,true);

ans;
int main

LL a=read LL(),b=read LL();
printf("sLld",solve(b)-solvela- ;

1
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const int MAXL=1e3+5,Mod=1e9+7/;
int a/MAXL],dp!MAXL ;
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int dfs(int pos,int prel,int pre2,bool eq
I'pos 5
leq&&~dppos| | prell [pre2 dp/pos!|[prell [pre2l;
int ans=0,v=eq?alpos|:9;
_rep(i,0,v
i==prel||i==pre2 ;
ans=(ans+dfs(pos-1, (i==0&&prel==10)710:1,prel,eq&&i==alpos|) )%Mod;

leq)dp/pos| | prel]|[pre2i=ans;
ans;

int solver(char *s
int len=strlen(s);
_rep(i,1,len
alil=s|len-il-'0";
mem(dp,-1);
dfs(len,10,10,true);

char b[MAXL],c|[MAXL];
int main

scanf("%s %s",b,c);
LL ans=solver(c)-solver(b);
int len b=strlen(b),len c=strlen(c),flag=1;
_for(i,0,len b
i+l<len b&&b[i/==bli+
flag=0;

’

i+2<len b&&b[1i|==bli+

flag=0;
ans+=flag;
LL tot b=0,tot c=0;
_for(i,0,len b)tot b=(tot b*10+b[i!-'0")%Mod;
for(i,0,len c)tot c=(tot c*10+c[il-'0"')%Mod;

enter tot c-tot b+l-ans)%Mod+Mod) %Mod) ;

’

gggd
00p3413
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